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Instructions :

(1) Read and understand the instructions related to each question before answering.
(2) Logical explanation should be written wherever necessary.

(3) Answer all questions.

(4) The score is given against each question.

Score
1, If 3 sinA= 21 and A is an acute angle, then what is cos A ? 1
+
S
(2/ In the figure, O is the centre of the circle. If ZAOC=70°,
D
A G (i
3 \
(@) What is the central angle of arc ABC ? b
(b) What is the central angle of arc ADC ? b1

3 ﬁong pole leans against a short wall making an angle of 45° with the level ground. The foot
> of the pole is 3 metres away along the ground from the bottom of the wall. What is the
height of the wall if the top of the pole touches the top of the wall ? 1

\4//1" he nth term of an Arithmetic Progression is 2—5n.

(@) What is its common difference ? 1

(b) What is its first term ? _ e
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}/ In the figure, tangents at P and Q of a circle meet at A. ZA=40° and AP =5'am.
P
Qs
(a) Find LAQP 1
v
(py~ Find AQ 1
1

rd ED is parallel to AC. Ois the centre of the circle. /CBE=65". Give

6. In the figure cho
wing statements.

reasons for each of the follo

B
(@) ZABE=25°( ) 7
0 ZACE=25( ) R
© LAEF=65°( ) 1
8 mL?, what is the value of :
1

\9/ sin A ?
s

Ma A?
W/Hy tan2A ? 1

(/-




V the figure, PB=BT and PT is a tangent to the circle. Prove At PR BC=TC: 2

T
£

sectat P. If AB=6cm, PB=8 cm, PD=7 cm
2

3/In the figure, chords AB and CD produced inter
' find the length of CD.

y/ln ihe figure, AB=5 cm, ZA=30", AD=3 cm.
C
L
& What is the length of DM ? Y
11‘3( What is the area of parallelogram ABCD ? 12
-
17, In the figure, O is the centre of the circle. If £ZB= 10°, £C= 15°, find the central angle ®f
arc BPC. 2
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12. The length of the tangent from a point 15 cm away from the centre of a circle is 12 cm. What
: is the radius of the circle ? 2

13.  Ois the centre of the circle and OD is perpendicular to AB. If C is any point on arc BD, find
£ZBADand ZACD 2

14. In the figure, chords PQ and RS intersect at A. Prove that RA.AS=QA AP. 2
R
\
P‘ S

15. The mean of 10 scores is 12. What is the mean after removing one number 3 and then adding

a number 8 to them ? 2
uo./ Find the value of 3 sin230—4 cos260 + sin245. D
17,7 In the figure, ZBAC =40°, ZADB =235, find ZABC. 2
D
N
i L

IBJff the sum of three consecutive terms of an Arithmetic Progression is 12 and the product of
these terms is 60, find the three terms. 3
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1 Q/Calculate the mean : . ﬂ

Class Frequency 3 W’““f
.20 -24 8
24 -28 3
2832 15
32-36 12
36 - 40 8
40 - 44
Total

20. A tower is 70 metres high. From the top of if, the angles of depression of the top and the
bottom of a tree are found to be 45° and 60° respectively. :

{2y Find the distance of the tree from the tower.
(by” What is the height of the tree ?

Me sum of the first 13 terms of an Arithmetic Progression is 416. Calculate its 7th term.

Vraw a circle of radius 3 em and mark a point P which is 7 cm away from the centre. Draw
the tangents from P to the circle and measure them.

23. ~Pupils in a school are arranged to stand in 20 rows in the school ground for a function. In
/ each row, there are 5 pupils more than the number in the immediate front row. If the front
row consists of 30 pupils, find the total number of pupils.
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